Petrozavodsk Winter Training Camp 2016
Day 8: GP of Saratov, Karelia Head Cup Contest 2, Sunday, February 7, 2016

Problem A. Three Servers

Input file: standard input
Output file: standard output
Time limit: 5 seconds
Memory limit: 256 mebibytes

There are three identical servers and n requests to process. The time to process each request is known:
it takes t; seconds to process the i-th request on any server.

You want to assign requests to servers in the most fair way. For each server, find its load: the total time
required to process all requests assigned to this server. The assignment is the most fair if the difference
between maximum and minimum load of the three servers is as small as possible.

Input

The first line contains an integer n (1 < n < 400), the number of requests. The second line contains the
sequence of integer numbers ¢y, to,...,t, (1 <t; < 30) where t; is the time to process the i-th request.
Output

Print four lines. The first line must contain the smallest possible difference between the maximum and
minimum load of servers. Each of the following three lines must contain the description of requests
assigned to a server. A description must start with the number of assigned requests, followed by the
indices of these requests in any order.

If there are several possible answers, print any one of them.

Examples
standard input standard output
6 9
7320157 13
3241
256
3 0
TTT 13
12
11
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